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Keith needs a new bike for next spring.  He wants to save at least $480.00 to spend on a new model. He says he can save 30 dollars a month, m, from doing his chores.
A. Write an inequality to represent the total amount of months, m, Keith must save to buy his new bike.
 ________________________________________
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B. Solve the inequality from Part A. Be sure to show all work.
C. List a solution set of five solutions for the number of, m, months.

D. Graph the solution for your inequality on a number line.


E. Write and explain what this solution represents in this real world problem.  
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